Transfers Report

This report contains the transfers results.

Contest Name	Ward 3 - Dee and Glenkens
Valid Votes	4,478
Positions to be Filled	3
Quota	1,120

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Anthony BIRD	Scottish Liberal Democrats	202
Dougie CAMPBELL	Independent	655
John DENERLEY	Scottish Conservative and Unionist	912
Andy MCFARLANE	Scottish National Party (SNP)	1,139
Laura Elizabeth MOODIE	Scottish Green Party	508
Susan MURDOCH	Scottish Conservative and Unionist	791
Graham TRICKEY	Scottish Labour Party	271
	Total	4,478

Candidate Andy MCFARLANE Elected with 1,139 votes, being in excess of the quota of 1,120

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Andy MCFARLANE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anthony BIRD	63	0.01668	1.05084
Transfer to Dougie CAMPBELL	164	0.01668	2.73552
Transfer to Laura Elizabeth MOODIE	585	0.01668	9.75780
Transfer to Graham TRICKEY	116	0.01668	1.93488
No further preference	161	0.01668	2.68548
Not transferred due to rounding			0.00148
	Total		19.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Anthony BIRD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dougie CAMPBELL	64	1.00000	64.00000
Transfer to John DENERLEY	15	1.00000	15.00000
Transfer to Laura Elizabeth MOODIE	38	1.00000	38.00000
Transfer to Susan MURDOCH	10	1.00000	10.00000
Transfer to Graham TRICKEY	47	1.00000	47.00000
Transfer to Dougie CAMPBELL	11	0.01668	0.18348
Transfer to John DENERLEY	4	0.01668	0.06672
Transfer to Laura Elizabeth MOODIE	19	0.01668	0.31692
Transfer to Susan MURDOCH	3	0.01668	0.05004
Transfer to Graham TRICKEY	17	0.01668	0.28356
No further preference	28	1.00000	28.00000
No further preference	9	0.01668	0.15012
Not transferred due to rounding			0.00000
	Total		203.05084

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Graham TRICKEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dougie CAMPBELL	87	1.00000	87.00000
Transfer to John DENERLEY	15	1.00000	15.00000
Transfer to Laura Elizabeth MOODIE	95	1.00000	95.00000
Transfer to Susan MURDOCH	34	1.00000	34.00000
Transfer to Dougie CAMPBELL	27	0.01668	0.45036
Transfer to John DENERLEY	1	0.01668	0.01668
Transfer to Laura Elizabeth MOODIE	51	0.01668	0.85068
No further preference	87	1.00000	87.00000
No further preference	54	0.01668	0.90072
Not transferred due to rounding			0.00000
	Total		320.21844

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Laura Elizabeth MOODIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dougie CAMPBELL	295	1.00000	295.00000
Transfer to John DENERLEY	21	1.00000	21.00000
Transfer to Susan MURDOCH	24	1.00000	24.00000
Transfer to Dougie CAMPBELL	263	0.01668	4.38684
Transfer to John DENERLEY	4	0.01668	0.06672
Transfer to Susan MURDOCH	11	0.01668	0.18348
No further preference	301	1.00000	301.00000
No further preference	377	0.01668	6.28836
Not transferred due to rounding			0.00000
	Total		651.92540

Transfers Report

This report contains the transfers results.

859.70056

Stage 6 - Exclusion of Susan MURDOCH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dougie CAMPBELL	119	1.00000	119.00000
Transfer to John DENERLEY	640	1.00000	640.00000
Transfer to Dougie CAMPBELL	12	0.01668	0.20016
Transfer to John DENERLEY	10	0.01668	0.16680
No further preference	100	1.00000	100.00000
No further preference	20	0.01668	0.33360
Not transferred due to rounding			0.00000
	Total		859.70056